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Note : Answer Part-I and Part-l7 in separate answer copies. 
Answer the questions as per instructions in each part. 
Draw labelled diagrams, wherever necessary. 

Time : 2 hours 	 Maximum Marks : 25 

Note : Q. No. 1 is compulsory. Attempt any four questions 
from Q.No. 2 to Q.No. 7. Give figures wherever 
necessary. 

PART - I (PLANTS) 

1. 	(a) Choose the correct term given in the 	2 
bracket : 

(i) The species that undergo (self/cross) 
pollination show wider ecological 
distribution, as they are better adapted 
to adverse environmental conditions. 

(ii) The edible part of the litchi fruit is 
(aril/ caruncle). 

(iii) In large majority of palms the growth 
is (sympodial/monopodial). 
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(iv) Fusion of dissimilar protoplasts results 
in the formation of (homokaryon/ 
heterokaryon). 

(b) 	Fill in the blanks : 

(i) 

	

	
An outgrowth of placenta or funicle 
near the micropyle is called 

(ii) The tissue produced by phellogen 
abaxially is called 	 

(iii) An undifferentiated mass of cells, 
produced in culture is termed as 

(iv) 	is the lipoidal layer found 
on the outside of the mature pollen 
grains of many insect - pollinated 
species. 

	

(c) Write the technical terms for the following 	1 
statements : 
(i) An unorganized product of double -

fertilization, present in a mature seed. 
(ii) A plant that needs to be exposed to 

light period longer than the 'critical 
period' in order to flower. 

2. Briefly discuss the role of plant tissue culture in 	5 
plant breeding. 

1+2+2 
3. What is polyembryony ? List important types of 

polyembryony in flowering plants. Also, discuss 
the applications of polyembryony in horticulture. 
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4. 	What is phellogen ? Compare the structure and 
function of various cell types produced by it. 1+4=5 

	

5. 	Write short notes on any two of the following : 

(a) Monosporic embryo sac 
	 2 1/2x2=5 

(b) Pollen wall structure 

(c) Apomixis 

(d) Amoeboid tapetum 

	

6. 	List four physiological effects of any two of the 
following plant growth substances : 	2 1/2x2=5 

auxins, gibberellins, cytokinins, abscisic acid and 
ethylene. 

	

7. 	(a) Mention the location, structure and function 	3 
of quiescent centre. 

(b) Write a note on abscission in plants. 	2 
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Note : Question Number 1 is compulsory. Attempt any four 
questions from Q. No. 2 to 7. 

PART - II (ANIMAL DEVELOPMENTAL 
BIOLOGY) 

1. 	(a) 	Fill in the blanks : 	 3 
(i) The characteristic larva found in 

phylum annelida is 	 
(ii) During vertebrate development, the 

germ layer which gives rise to central 
nervous system is 	 

(iii) Eggs with moderate amount of yolk 
are called 	 

(iv) Regular replacement of R.B.C.s is a 
kind of 	regeneration. 
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(v) The branch of science that deals with 
aging is known as 	 

(vi) Implantation of embryo at a place 
other than uterus is called 
	 pregnancy. 

(b) Distinguish between the following : 	2 

(i) Allometric and Isometric growth. 

(ii) Totipotency and pluripotency. 

2. Discuss the mechanism of carcinogenesis. 	5 

3. (a) Name the type of placenta found in human 	1 
beings. 

(b) Describe the formation and functions of 
	

4 
placenta in mammals. 

4. (a) Discuss the interaction of hormones in the 	3 
process of metamorphosis in insects. 

(b) Write about heteromorphic regeneration. 	2 

5. What are primary egg envelopes ? Comment 	5 
upon their various forms found in animals. 

6. With the help of suitable diagrams, describe the 	5 
formation of neural tube in amphibians. 
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7. 	Give the result of these experiments and explain 
them : 

(a) If Hydra is transversely sliced into annular 
segments. 

(b) In chick embryo, a piece of thigh mesoderm 
is transplanted under the wing ectoderm. 

2 1/2 

2 1/2 
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